
8
⑥ ÷ =3 9

4
⑤ ÷ =3

5
④ ÷ =4

6 3
③ ÷ =1 2

4 8
② ÷ =1 3

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

⑨ 定着

9

32

45

21

16

16

5
① ÷ =6 42

25

3
4

⑦ ÷ =32
21



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

5 5 5 ×
① ÷ = × = = 6 6 6

1 3 1 8 1 × 8 2 (

× 5

×3
② ÷ = × = =

1 2 1 3 1 × 3 1 (

34 8 4 3 4

6 3 6 2 6 × 2
③ ÷ = × = =

4 4 4 × 9 (

4

×
④ ÷ = × = = 2 1 )

3 4 × 4 7 (

45 5 5

4 3 × 3
⑤ ÷ = × = =

3 9 3 3 × 2 (

8

× 9
⑥ ÷ = × = =

4 × 4

38 8 9 8

3 × 3× = = 8

⑨ 定着 答え

9

32 32

32

32

4

1

71

5

1

2

2

1

1

91

4
45

45 45

8

17

1

1

21

3

8

17

1

42
42 42

21

21 21 21

16
16 16

25
25 25

16
16 16

32
21 7

7 ((1 5
2 )

3
4

⑦ ÷ =32
21




